Finding the Slope of a Line

Name_____________________
The slope (m) of a line refers to the slant of a line.  

The slope of a line is a ratio (fraction) that compares the vertical change (the “rise”) to the horizontal change (the “run”).

To find the slope of a line that is graphed:

1) Count the rise between any 2 points on the line (up +, down -)

2) Count the run between those 2 points on the line (right +, left -)

3) Write a fraction comparing 
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*The slope of a line is a ratio (a comparison of 2 values).  For this reason, the slope should always be written as a fraction in simplest form and NEVER as a mixed number.

Examples

1) Rise = 3, Run = 4
m = 
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2) Rise = -6, Run = 2
m = 
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3) Rise = 4, Run = -8
m = 
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4) Rise = -7, Run = -3
m = 
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Writing assessment:

On the back of this paper answer the following questions in paragraph form.

1).  How do you determine if the slope of a line is positive or negative, zero or  

      undefined slope from a graph?

[image: image6.jpg]Positive Slope Negative Slope






 INCLUDEPICTURE "http://mreaton.com/wp-content/uploads/2011/11/race21.jpg" \* MERGEFORMATINET [image: image7.jpg]Zero Slope

Undefined Slope

AHHHII





2)  How do you determine if the slope of a line is positive or negative, zero or  

      undefined slope from two given points?

3)  How do you determine if the slope of a line is positive or negative, zero or  

      undefined slope from a table?

Examples
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5.)
2.)
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3.)





6.)
Slope Formula

To find the slope of a line when given the ordered pairs of 2 points on the line, use the formula:





m = 
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where (x1, y1) and  (x2, y2) are the 2 points
Examples

1) (3, 5) and (6, 3)

2) (7, 2) and (-4, 8)

3) (5, -1) and (0, -6)
4) (6, -2) and (2,4)

5) (-9, 0) and (-11, -5)

Horizontal and Vertical Lines

A horizontal line, as seen below, always has a “rise” of 0.  Since 0 divided any number equals 0, the slope of a horizontal line is always 0.
A vertical line, as seen below, always has a “run” of 0.  Since you cannot divide by 0, the slope of a vertical line is undefined (it has no slope).
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